

Los Rios Community College District

Purchasing: (916)568-3071 * FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 * FAX (916) 286-3636 Acctg-ops@losrios.edu

PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000006424 AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108

email:

PURCHASE ORDER NO 0001117782

Date	Revision	Page		
09/17/2021		1		
Payment Terms	Freight Terms	Ship Via		
NET 30 Sh	ipping Point	Best Method		
Reference: Location / Dept				
1032449 MESAC F	ROUILLERS	04CYPH144		

Ship To: FOLSOM LAKE COLLEGE

RECEIVING

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

United States

Bill To: LRCCD

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court

Sacramento CA 95825-3981

United States

Tax Exempt? N

Tax Exempt	i IN					
Line-Sch		Item/Description	Quantity UOM	PO Price	Extended Amt	Due Date
1- 1]	REC	WORKBOOK FOR HARTMAN'S NURSING ASSISTANT CARE: THE BASICS, 5TH EDITION PAPERBACK - JULY 13, 2018	2.00EA	14.00	28.00	10/01/2021
2- 1 I	REC	HARTMAN'S NURSING ASSISTANT CARE: THE BASICS, 5TH EDITION PAPERBACK - JULY 13, 2018	30.00EA	31.70	951.00	10/01/2021
3- 1 I	REC	ADC - 768-11ATL PROSPHYG 768 POCKET ANEROID SPHYGMOMANOMETER WITH ADCUFF NYLON BLOOD PRESSURE CUFF, ADULT, AND CARRYING CASE, TEAL	10.00EA	38.87	388.70	10/01/2021

ORDER# 112-5287844-1270624 PLACED 09-17-21 - SR

PAID

CHECK #: 0094819171

DATE: 9/27/21

AMOUNT \$: 1473.78

Sub Total Amount Sales Tax Amount Total PO Amount 1,367.70 105.99 1,473.69

Vchr# 00610333

VOUCHER #: 00610333, 00610326,

ΒU <u>Fd</u> <u>Org</u> <u>Sub</u> <u>Proi</u> <u>Prog</u> <u>Amount</u> **BYear** Acct GENED 4300 12 FL.VI.ALHT 12303 00000 696H 1,473.69 2022

0001032449CHAVEZA16-SEP-2021

Verification of this purchase order can be made using the Los Rios Community College District web site listed below.

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.



Notice to vendor: You are responsible for delivering good and delivery documents to the Receiving Department at the site. Failure to so do will delay payment processing. Vendor is responsible for obtaining verification of delivery by authorized Receiving Room personnel. Receipt of good by other parties and failure to obtain authorized signatures may also delay payment. NOTE: PAYMENT TERMS NET 30 MATERIAL SAFETY DATA SHEETS (MSDS) must be provided with the delivery of product as required by law.

Requisition

Supplier: AMAZON.COM

BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 **United States**

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798 0000006424

OPEN Business Unit: GENFD Req ID: Date Page 0001032449 09/14/2021 Requisition Name: Amazon-CNA-Textbook-CM Requester Colleen Mesa Requester Signature Buyer: Brenda Haney

Approved:

Entered By: MESAC 14-SEP-2021

Line-Schd	Description	Quantity UOM	Price	Extended Amt Due Date
1-1	WORKBOOK FOR HARTMAN'S NURSING ASSISTANT CARE: THE BASICS, 5TH EDITION PAPERBACK ¿ JULY 13, 2018	2 EA	14.00	28.00
2-1	HARTMAN'S NURSING ASSISTANT CARE: THE BASICS, 5TH EDITION PAPERBACK ¿ JULY 13, 2018	30 EA	31.70	951.00
3-1	ADC - 768-11ATL PROSPHYG 768 POCKET ANEROID SPHYGMOMANOMETER WITH ADCUFF NYLON BLOOD PRESSURE CUFF, ADULT, AND CARRYING CASE. TEAL	10 EA	38.87	388.70

1,367.70 Sub-total 105.99 Est. tax

Total Requisition Amount: 1,473.69

ORDER# 112-5287844-1270624

Prog <u>Proj</u> Acct Fd <u>Org</u> <u>Sub</u> <u>Amount</u> 4300 12 FL.VI.ALHT 12303 00000 1,367.70

Purchases Charged to Catagorical Programs, Grants or Special Project.

Program Name: Dorthy Rupe Nursing Assistant

Project Grant: 696H

Program Director: Vicky Maryatt

Program Goal: Student Support Materials

Approval Signature	Approval Signature	Approval Signature



Details for Order #112-5287844-1270624

Print this page for your records.

Paid By: LOS RIOS CCD Placed By: Colleen Mesa

Order Placed: September 14, 2021

Amazon.com order number: 112-5287844-1270624

Order Total: \$1,473.78

Business order information

Requisition number: 0001032449

Not Yet Shipped

I tems Ordered Price

2 of: Workbook for Hartman's Nursing Assistant Care: The Basics, 5th Edition, \$14.00

Hartman Publishing Inc. Sold by: Amazon.com Services LLC

Condition: New

30 of: Hartman's Nursing Assistant Care: The Basics, 5th Edition, Hartman Publishing \$31.70

Inc.

Sold by: Amazon.com Services LLC

Condition: New

10 of: ADC - 768-11ATL Prosphyg 768 Pocket Aneroid Sphygmomanometer with \$38.87

Adcuff Nylon Blood Pressure Cuff, Adult, and Carrying Case, Teal

Sold by: Amazon.com Services LLC

Condition: New

Shipping Address: Colleen Mesa FL2-144 10 COLLEGE PKWY FOLSOM, CA 95630-6798 United States

Shipping Speed: Amazon Day Delivery

Payment information

Payment Method: Item(s) Subtotal: \$1,367.70

Shipping & Handling: \$0.00

Total before tax: \$1,367.70

Estimated tax to be collected: \$106.08

Grand Total: \$1,473.78

To view the status of your order, return to Order Summary.

Conditions of Use | Privacy Notice © 1996-2021, Amazon.com, Inc. or its affiliates

1 of 1 9/14/2021, 10:43 AM

DO# 000 11 17 782

PCVR # 000 109 3156

9/21/21 Baba

amazon.com



Qty.	order of September 14, 2021 (Ord Item	•		
			Item Price	Tota
2/	Workbook for Hartman's Nursing Edition		\$14.00	\$28.0
/	Hartman Publishing Inc Paperb 1604251018 1604251018 9781604251012	pack		
/	Hartman's Nursing Assistant Care Hartman Publishing Inc. Paperb 160425100X 160425100X 9781604251005	The Basics, 5th Edition ack	\$31.70	\$380.40
We've quicke separat	sent this part of your order to ensure r service. The other items will ship	Subtotal Tax Collected Shipment Total		\$408.40 \$31.70 \$440.10

PO#000 1117 782 RCVR#000 109 3137

9/23/21 Baha

amazon.com



Purchase Order #: 0001117782 Your order of September 14, 2021	(Order ID 112-5287844-1270624)
Qty. Item	Item Price

/	Hartman Publishing Inc Paperback 160425100X 160425100X 9781604251005	\$31.70	\$63.40
7	ADC - 768-11ATL Prosphyg 768 Packet Anerold Sphygmomanometer with Adcuff Nylon Blood Pressure Cuff, Adult, and Carrying	\$38.87	\$272.09

B000F96DCK

B000F96DCK 634782008987

We've sent this part of your order to ensure quicker service. The other items will ship separately. Subtotal \$335.49 \$25.99 Tax Collected Shipment Total \$361.48

Return or replace your Item Visit Amazon.com/returns

ALLE AND IND L'IS TIMES IL FLA SING BANKE BINGLI LLA MIN

0/MBzHBMzJv/-9 of 9-//TCYS-CART-0/second-nominated-day/0/0922-12:00/0922-02:20 D1-168

amazon.com



Purity 25 C Goot 117762 Tou Suptember 14, 2021 (Order		Item Price	Total
Hai tman's Nursing Assistant Care: 1 Hai tman's Nursing Assistant Care: 1 Hai tman's Nursing Inc Paperbar 160:425100X 160:425100X 978:160:4251005	The Basics, 5th Edition ck	\$31.70	\$31.70
Mean sent this part of your order to ensure quicker service. The other items will ship reparately.	Subtotal Tax Collected Shipment Total		\$31.70 \$2.46 \$34.10

out Amazon constretuins

Die but ind bindien inn i gillman ingt milliam mit 1/F to FF. Tiv 1 of E //TCY5 CART O/second nominated-day/0/0922-10:00/0922-02: Kmart PacSm.

PO#000 1117782

REVR # 000 109 3234

9/28/21 <u>Paba</u>

- Po completed.

visit Amazon.com/returns

0/Mhy7g8FCv/-10 of 10-//SCK9-TWI/next-1dc/0/0926-11:00/0926-02:12

A9 -143

amazon.com



Your order of September 14, 2021 (Order ID 112-5287844-1270624)

Item Price Total AOC - 768-11 ATL Prosphyg 768 Pocket Amercid Sphygmom memorar with Adouff Nyton Blood Pressure Cuff, \$38.87 \$116.61 Adult, and Larrying ... B000F96DCK B000F96DCK 634782067489 This shipment completes your order. \$116.61 Subtotal Tax Collected \$9 03 Order Total \$125.64

Return or replace your item Visit Amazon.com/returns

PM7

PO#0001117782 RCVR#0001098199

9/27/21 Baba

amazon.com

Purchase Order #: 0001117782



Qty.	order of September 14, 2021 (Order Item	1270022	tem Price	Total
11	Hartman's Nursing Assistant Care: Hartman Publishing Inc Paperba 160425100X 160425100X 9781604251005	The Basics, 5th Edition ick	\$31.70	\$475.50
sebara dnicke Me,ve	sent this part of your order to ensure or service. The other items will ship itely.	Subtotal Tax Collected		\$475.50 \$36.90

Shipment Total

Return or replace your item Visit Amazon.com/returns

MES UME LUMB IN EN EN SONTAN LACTE E N'ESMAN SEUS MESTAN SEU

0/MfRTIF2gv/-15 of 15-//KLAL-KLAL-C/second-nominated-day/0/0925-08:00/0923-11:13 A10

- 128

\$512.40